20244 78168~318 ESYYHWEZEANT—IU CRBRER~781588K1E~

7 3 9 10 17 10 13 T4 15 16 17 18 10 20 27 20 03
TS| 7 1 = I '
16 [22=Z] !
35— i
£3=2 i |
() 1822 : - B = |
1%?2wmmmmmmmmmm =
17 [23=Z] i
30—=2] \
2321 i | |
0K g==2] : | B = =]
o | : ] = | ] =
TS — f 1 = ]
18[232=Z] !
30—=2] \
2321 i | |
(N B3=2] é TR | B = |
1%?2wmmmmmmmmmm =1
19 [232=Z] i
37— !
432 i
@)[23=4] = mel T =
1@@@Jmmmmmmmmmmmmm = | =
:]_
20 |232=Z]
30—l
£3=4]
Ct).j—AI ] = = ]
ZE0 ] = |
TS —|
21 232=Z]
30—l
£3=4]
(E) .Al
1%?2wmmmm :
22 22=2Z] i
37—l !
2321 i | | | |
<g)°£?‘Wmmmmmﬁmmmm — Fﬂ“’ﬁ 2= '
= it ! =
TS — f 1 = I
23 [23=Z] !
30—2Z] |
43—2] i
o0 |83 N
I | =
TS — i
24 225=2Z] !
30—2] L
2321 ? | |
(K [ B==2] | B = =
5 : ] = | ] =
T — ! 1 = |
25 25=Z] !
30— |
23=2] i | |
R g== % = I # = !
@w‘mmmmmmmmmmm =1
T —] )
26 [20=2] !
30—l i
£3=4] i | I
4 = i = ==
() [85=2] ; =1 B = 8 =
A | I = I ==
TS —|
27 [232=Z]
37—l
23=21 | |
(1) [85=2] | & =]
g0 | B = |
T—X|
28 [232=2Z]
33—l
£3=4]
(B) .A|
1%?zwmmmm :
29 [232=2Z] i
30—=2] !
23=21 i | | | |
(%)'5_‘Mmmmmmﬁmmmm — Fg“*1 2= I
2P ! ! =
1 J—=X]] i 1 N = ]
30 [232=Z] i
37—l i
423—2] i
0233 | N
1@%@Jmmmmmmmmmmmm L=
5= i
31 [22=2Z] :
33—2Zl |
43—2] i
() [B3=4 @ —
7 I | : : ] = | | =
I S 9 70 i 10 13 14 15 16 17 18 10 20 2] 0
(RREAVNEHHE]
T185—0013

EOFHhAaRs E3—32—6 (BOFHREANT—IL) T (042) 325—6868

KB DD —MEXRE UCTRIRVERZITET,

XIERBSICLD, —HEEIDIHEECINET,

MOKEKF vy T, KERMUTEREZDET, HEWECHRBDIZ, TRELIZE,
X7H158((8 - R)~88188(B)DHE. tBHBIE7HI3IO0ODNSERINC LT,



2024& 8)%1 El~15EI ERFHRZEANT—IU L_%JﬁBGEVSN?%ﬁEIIﬁf‘N

10 11 12 13 14 15 16 17 18 19 20 21 22

y %%:2} I 2= T
33—§I
42—
() [83=4] B | | : B = I
ST | i iiiiiiiiiiiiiﬁﬁﬁiﬁﬁiﬁﬁﬁiﬁﬁliiiiiiﬁiiﬁiﬁﬁﬁiiﬂ 2 =1 liiiiiiiiiﬁi
o [53=7]
30—=2] %
47— 1
(&) [g3=2] =] 8 = ' B =
. z:BIIEL—PZ : O = ] = maaaaaaaaaa
==
43—2]
(1) [83=4] El .
= | iiiiiiiiiiﬁi HMIIE = iiiiiii
4 ; g:% —— 222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222ﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂ
33=4] L7J<H%¢J1 6 : 30
(B)[32=4] | soeds Fzﬁﬁ%‘ﬂ%‘?ﬁ? 00
%ZJ'EJP | Zﬂﬂﬂﬂﬂﬂ MIIE [
5 ; g:% | aaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaamm
30—
PNE== K B H
= zzﬂi'E_P I aaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaam
6 ; g:% | aaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaamm
30—
== KRS BIROAIKNE
= zzﬂi'E_P i aaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaam
7 ; g:% | aaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaamm
30—
M= KIRE BIRDABING
= zzﬂi'E_P i aaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaam
8 ; g:% | aaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaamm
30—
oo B2 KIRE BIRD AR
2 %:Ul L%_PZ I 4444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444444ﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁ
e lll iIlIIIIlllllllllllllllllllllll iIllIIlllllllllllllllllllllll
30—
43—
(&) [R3=2]
. %‘?’2 : A lﬁiﬁﬁiﬁﬁ
10125=41
43—
(H)[83=4
ST | lﬁiﬁﬁiﬁﬁ
11 [22=%]
33=2Z]
[45=2
(B8) 5—3:
. z:ZJ]'EL_P2 I S ﬂﬁﬁﬁﬁmi
43—2] |
(B)[B3=4]
. %L‘%_PZ :iﬁﬁiﬁﬁﬁi ML I = I liiiiiﬁiiﬁig
13123=41
43— E
(1822 B = |
1%&‘513 iiiiiiiiiiiiiiiiiiiiiﬁiiiﬁﬁﬁiﬁﬁiliiiiiﬁiiﬁiﬁﬁﬁiﬁﬂ | liiiiiiiiiﬁi
N
(k) [B3=4] % =]
12:21;,%_F>2 Iﬁiﬁﬁﬁﬁﬁ144444ﬁﬁﬁiﬁﬁﬁiﬁﬁﬁﬁﬁl4444ﬁiﬁﬁﬁiﬁﬁﬁﬁﬁﬁﬁ I i I ] £ == ] ] = | lﬁiﬁﬁiﬁﬁ
N
(N [g3=4] - | ' H = | |
=P Ilﬁiﬁﬁﬁﬁﬁ144444ﬁﬁﬁiﬁﬁﬁiﬁﬁﬁﬁﬁl4444ﬁiﬁﬁﬁiﬁﬁﬁﬁﬁﬁﬁ i 2 =1 i i i lﬁiﬁﬁiﬁﬁ
10 11 12 13 14 15 16 17 18 19 20 21 22
(SR \81’3 ]
T185—-0013

EoFHhiasr 83—32—6 (BDFHREAT—IL) T (042) 325—6868

KB DON—AEXRE UCTRRUVERZITET,
XIERBEICLD, —HEEIDIHEECINET,
MOKEKF vy T, KEQJMUTEREZDET, HEWECHERBDIZ, CRELIZE,
X7H158(8 - )~88188(B)DHiE. TBHBIE7TEI0DNSEXHLET,
%8848 (B)3T—ILD T R7 1 /NLEEEDR. FREAMERDET,
XE148E3000 51Xk I—RADOAHERDE T, TXKI—ADBEEICENTEBADTIHTEIIZSU.



20245 88168~318 EOYTHWEZEANT—IU CRBRER~781588K1E~

i 4 3 €] 10 11 12 13 14 15 16 17 18 19 20 21 22 23
T X 1 '
16[23=Z] !
33—2] !
42— H
(@833 Crs meEl T Ty
1%@}@%%%%%%%%%% I = I ==
:]_
17 25=Z]
30—
43—2]
(1) [839=4] ElE |
ZEp_ | I Iy = I
T— X
18[23=Z]
30—
==
(B) .A|
1%?2wmmmm :
19[22=Z] i
30—=2] \
£9=2] i | | | |
(%)'ﬁ%‘wmmmmmﬁmmmm Iﬂ-ﬁl Ig_gl 2= :
To—2] i == 1
20[23=Z] :
30—=2] \
43—2] i
(W) [g9=4] B = |
1%?2wmmmmmmmmmm =
21 [23=Z] i
30—2Z] |
23=9] . |
(K [ B==2 ; | B = =]
V= | A I = I F%Fé%
TO— X 1 I o= I
22 22=2Z] !
30—2X] t
== | | .
(N B==2] i = [ #H = I
1%?2wmmmmmmmmmm =1
23 232=Z] i
30—2Z] |
a3=4] i | |
AN — 1 = =
ep | e T = I =
T—A| 1
24 225=2Z] !
30—2] L
e3=4] |
(1) B==2] : HEE]
= | e I I = I
T— X :
25[23=Z] i
30— |
£3=4] ?
PEp |
T— X :
26 [23=2] i
30—=X] i
43—2X] i
(B [83=4] 2 =] ' ¥ = ' |
G < | H I?&:EI
T2 f I = T
27 [22=2Z] !
30—=2] !
43— i
OWEEE nE |
T =
1 —=X] |
28 [20=2] /
30—=2] !
£5=4] i | |
K [85=2] [ B E| %i
Ep | A i I I = I =1
T -2 1 I W= I
29 [203=Z] !
30—=2] !
£5=4] i | |
(N [85=2] : =] | B = |
1@?2wmmmmmmmmmmm =1
30 [22=Z%] i
37—l i
47—=2] i
(&) [B3=4 = gzl B =
. zmeupx I|aaaaaaaaaaaaaz1aaaaaaaaaaaaaaaaaaaaaaaaaaaaaf-|aaaaaaaaaaaaaaaaaaaaaaaaaaaa I = I I =
= 1
31 [z20=F] i
30—X] i
43—2] i
(1) [83=4 M e s
N | i i I I = I
N4 S 9 10 19 12 13 14 15 16 17 18 19 20 21 22
(RAENEHE]
T185—-0013

EOFHhAaRs E3—32—6 (BOFHREANT—IL) T (042) 325—6868

KB DD —MEXRE UCTRIRVERZITET,

XIERBSICLD, —HEEIDIHEECINET,

MOKEF vy T, KERMUTEREZDET, HEWECHRBDIZ, CRELIZE,
X7H158(R - fR)~88188(B)NHE. £BHBIE7EI0ODNSERHELET,



